R}

RRBEEAR (L) FRAF

RS RE MH-C MH-C2 Vert-X 37E - 24V / 0.5 - 4.5V
BRSH o83
NEAETE 0 ... 360 0 ...360 Rl KL

10 3T 4% (T AR 3a) % of meas. range  $0.3 +0.3 B

MM LMERFTEAEL@ 360°) % of meas. range 0.5 £0.5 Aol AL

& R HL 0.1 0.1 BHRABRER

D YPR bit 12 14

BATEEH o 0.1 0.1 RS ET
PR R S kHz ®) @ miiE4 IP6s
1R R kHz 1,66 05 ERTRBL
BORIE 2 R 45 R IER bs (300) (300 TERINRE
BREXRSEEFIER ps 4600 2500 2= v 1 B
BHESRRRERHK ppm/°K 100 100 |
MTTFd/MTBF years 240/ 240 209/ 209 (FEJE, B, R R %)
R vbe 8...35 8...35 ERBESAECANES M
T U8 BRI (typ.) I mA (19) (20) EAE

T AR BRIAFE(typ.) BIEERK mA 14 15

MR/ BEEARK kOhm 10 10 Fm#R MH-C
MHRRBRAH nF 100 100 7 PHE 12bit
BRI M R ERE yes yes TERAR

B TEE B Wires (3x) Wires (3x) EEMH-C2 EEH
BRAEREBE mmz2 0.56 (AWG20) 0.56 (AWG20)

B A E IR Cable 3pole Cable 3pole RS MH-C2
BREKEEE mm?2 0.56 (AWG20) 0.56 (AWG20) 7 PR 14bit

T2 Jos no ZE| A, HE s 75 0 A A B g
B TR B Wires (6x) TE/F] R B2 (P 3)
BIRAKEEE TR mm2 0.56 (AWG20)

BREE TRER Cable 6pole

BIRGGEBE TR mm? 0.25 (AWG24)

MRS

ML AT E 360 (continuous) 360 (continuous)

Brir &5 IP68 IF68

B/NE movements no limitation no limitation

ITHENEEEE °C -40 ... +85 -40 ... +85

IEC 68-2-6 #x3) (Amax =0.75mm, f=5... 2000 Hz) 9 50 50

IEC 68-2-27 Mk 9 200 200

FEtrkE

EN 55022 class B, Emission radiated (30... 230 MHz) dB(uV/m) max. 30 max. 30

EN 55022 class B, Emission radiated (230...1000MHz) dB(pV/m) max. 37 max. 37

EN 61000-4-2, ESD (contact discharge / air discharge) kv +4 ] +8 +4 ] +8

EN 61000-4-3, Immission HF radiated (80... 1000 MHz) Vim 30 30

EN 61000-4-4, Burst (on all lines) kV +1 +1

EN 61000-4-5, Surge (lines to ground) kV +1 +1

EN 61000-4-6, Immission HF conducted (0.15...80MHz) Vemk 10 10

EN 61000-4-8, Immission magnetic field (50Hz) A/m 30 30

IEC 60393-1 Insulation resistance (500VDC, 1bar, 2s) GOhm 20 20

IEC 60393-1 Dielectric strength (VAC, 50Hz, 1min, 1bar)  kV

CONIELEC

A company of the Siedle-Group
18017427003

HEABEFEAR (%) ARAT TEL:400-800-5927 5k L

www.tifu-auto.com



KW |

RRBIFEAR (L) FRAF

[y

IE [ 88 B CWHR A1

IE M8 E CCWHE2

TUR, E@#E CWA &3

TR, EB#E CCWH 4

TR, RRES ML ATiLS

IE @ BB CW 5 1BE JF X ) AT LA
E@BE CCW 1B FF 5 4 7T 1B

B E B /5N G

3 A% &4 4pole

5 ¥Rt &4 3pole

7 A% 44 5pole / 6pole
9 Ik PR B LS TR L4

BRERE/RE
4 ¥Rt B B4 3pole

IE M8 EE CW 5 2% FF 5< i ATk C / o
E@#E CCW %254 FF 5 3 H*Ti%D 6 ik A B 6pole
Kt A E AR E TIkE 9 HII% HS R AT BRI 4
FRMBERE T 1@ AR E AR
R FBEFE 75 18 AR E WL G B
IR R & QUBE R 5 ) TR E AT IEH 01 A& 10cm
A #mFEVert-X EasyAdapta &P 03 T3 300m
05 ¥5# 50cm
wHES 99 Wik HHKE
0,5VDC ... 4,5VDC Standard 2
HAKE
02 ¥5# 1.0m
06 A% 3.0m
e s 10 A% 5.0m
24VDC Standard 1 00 Wik BHKE
VertX 3 7 E 4 7 3 6 1 2 1 0 5
HREA
36HR AR H360°
xxA %03 to 35; Declaration in 10° steps
99TE R BRI A
ERBRRE
7 MH-C
8 MH-C2
HLAR 45 R A
37E1 Wik AR R % size 13 ; B H T H Mtype 1
37E2 Wik fa lR R Esize 13 ; B HITHGtype 2
37E4 R MABR R Esize 13 ; BitEHITHLI type 4
37E9 Wik BT BHRBERITIG
MH C MH C2
1T il B M AT LG X X
T o= X X
1T il e 88/ 4% X X
PR AE 2 SRR X X
FFRIEETTL (max. 2) X X
R M X
SEREB S A SBE30° to 360° (BRI ) X X
BREAARE (4) X
BESMARAIRE @S LS) X
fEF A ECW/CCW FIRE / Al w2 (BN &4 = 5 44) X
REIRARE TRE @ALR RN X

-
=
Ic

Vert-X 37E - 24V /0.5 - 4.5V
g Kas

Frxf
BEL-—TMERF(®RA.127), £
B BT B Rk

ik (REEFER)

CONIELEC

A company of the Siedle-Group

BREBEEA (L3 ARRAT TEL:400-800-5927 5k T.: 18017427003

www.tifu-auto.com



A}

REBEEAR (L) FRAF

Finbaumass ~ Ltdz
working position 16
M5 S ini
= 21 3
[ —H+H
E“ _(_LI; it - /IB o
=5 i | — r
LO [ | o0}
g =
B € AT )
e T ¥~
™ HUNIN
j 4 H
_|_®5Tief95 12
g 20 19, 4 |
Finbaumass ¢ il i, s
S 13 working posilion |4 g
21,3
AT T4 16
— o S -
D\ r__ | O |
ST Rl @ —
RCIR NS |11y B S
= m‘ __({‘I: il y U \
| T H
] o T L
I e S =
@5 Tiefe b 12
826 24

*
| :

Vert-X 37E4 xxx xxx 5xx
Vert-X 37E4 xxx xxx 7xx

B4 (incl.)
1Ix BEXRF
2x BRI E IR 4 M5%x12

TAELE(Z) M BTG
BKR AV
SEREKER

Vert-X 37E4 xxx xXxx 4xx
Vert-X 37E4 xxx XXX 6xx

E 4 (incl.)
1Ix BIEXRF
2x T FE R T & 18 4 M5x12

THENVEZ) M BEERTHIE

RAAFH
SERKER

CONIELEC

A company of the Siedle-Group

BREBEA (%) ARRAT TEL:400-800-5927 3k T.: 18017427003

www.tifu-auto.com



RRBIFEEAR (L) FRAF

Finbaumass ~ [rdz
W1 working position 16
B |
[ —++ S8
a <CHT 5
= oo | i g g"
_
g
1Sk] g5 CHE v 1
s TH 1
|1 Nyl
‘ = 4]
|| @5 Tiefe 5 12 165
g 20 19,4
. Einbaumass [ tdz
.;SW 10___ working position 16
-l 4
Q — - o8
Q — —H+ =
A ERE il -
, \ = \ 2 s
& {@2¥ ’ e 1 Ul
N | ATy !
- o
~ TH 1
S ]
|-

)

g5 Tiefe b =12= M

¢ 26 24

BEREESAR (L) AFRAF TEL:400-800-5927 KT

www.tifu-auto.com

-~
—-—_
r

c

Vert-X 37E1 xxx xxx 5xx
Vert-X 37E1 xxx xxx 7xx

B2 4 (incl.)
1Ix BERF
2x G ST IR 4 M5x12

THRMEZ) M BERTHN
RKAVFHE
SERERFR

Vert-X 37E1 xxx xxx 4xx
Vert-X 37E1 xxx Xxx 6xx
B4 (incl.)

1Ix BIEXRF

2x g S R4 M5x12

THEMEZ) M BTN

RAAFH
SERERFR

CONIELEC

A company of the Siedle-Group
18017427003



R}

RARBEHEAR (LI FRA

Zll

Vert-X 37E2 xxx xxx 5xx
Vert-X 37E2 xxx XXX 7xx
B2 4 (incl.)
Einbaumass / tdz 1x BIERF
) e . b 2x W T L 5 SR 44 M5x 12
working position g
M5 1 6——‘—*— T E(Z) M BRI
— e |3 BA RV
B BEREEER
| —TH: =
[} HIL to)
o [y n
S T [
ol g L el e
[_\J I__ ~ N
s | 0| B LJ‘_Tf 1= (=2 Iy g A
o T o
o BUNIE
Y Sy Nyl
= 10,5
||| #5Tiefe 5 12 | | 15,6
926 o i
Vert-X 37E2 xxx Xxx 4xx
Vert-X 37E2 xxx xxx 6xx
B4 (incl.)
: 1x BEXRF
Einbaumass _Z e - 2x T 3 4 4 M5x 12
3x M3 workin osition B
—’1— I F Ly B —wr——= THefE(2) M BT I
= |3 Bk fo P4
i e SERERER
l — H ZL=:
o ~<CIH g
5 T
L0 oo r “ T “ Jl \
S Al ATt
o ] Q =AY
sl | o LJ‘,Tf ik =2y il i
IS it
™ T
r =4 | uNl
- = 10, 5
| 5 Tiefe b 12 NN
9 2b - 24 .
A company of the Siedle-Group

BEEREEEAR (B¥) BFRAT TEL:400-800-5927 3K T.: 18017427003

www.tifu-auto.com



RERBEEA (L) FRAF

Vert-X 37E4
ZRER
THENEEZ)
= MH-C 3.85mm
—+I MH-C redundant 4.35mm
e MH-C2 3.85mm
A
BTN MR RATFED -
dx +0.25mm
dy +0.25mm
dz +0.5mm
Vert-X 37E1
ZRER
TEHE(Z)
MH-C 4.95mm
MH-C redundant 5.45mm
% 1 : 1 MH-C2 4.95mm
+ 4
N_ E % REMERATV R K iR
A dx +0.25mm
dy +0.25mm
dz +0.5mm
A company of the Siedle-Group

BREBEA (%) ARAT TEL:400-800-5927 3k T.: 18017427003

www.tifu-auto.com



REBEEAR (L) FRAF

/ *dz

Vert-X 37E2

THEMEZ)

TEER

MH-C 6.45mm
Y | MH-C redundant 5.95mm

MH-C2 6.45mm

BMERATH R R A V4RI

ST

i dx +0.25mm
dy +0.25mm
// dz +0.5mm
|
SR
/////
|
Vert X 37E

)

35
1,5
41
u

CONIELEC

A company of the Siedle-Group

BREBEA (E%) BRAT TEL:400-800-5927 3K T.: 18017427003

www.tifu-auto.com



	页 1
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7



